ooooooo 2013/4/10

\
Q 06100000 ooooo - EA

0O0;0000000«£LX0YD 2000000 0;000000;=1,«42X0Y=a000000000 00y
00 O, 0000 G000O0, 000000 OX,0OYOoooo O, 00b00oDpooooon OX,0Y oo

0000Oooooooooon O, Og, weeee- ocoooooooood
J
cooomoooocooon
75 &t
(DnDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD J

TS

=]

00,0000 TnDDDDDDDDDAOnOX=%DDDDDD

sin 5 00, — 00, s %

Tntl Tn

sin % sin %

— 7,

Y+l = <1 —sin %)rn

ooadad
n—1 n—1
rn=r1<1—sin%> =sin%<1—sin%> < r1=sin%>
ooooo O,000 S,00

2 —

2(n—1)
Sy = wryt = 7sin® % <1 —sin 7)

ooobooooooon

0 ﬂSinZ%
Z Sn: 2
n=1 1—<1—sin%>
B nsinQ%
N 2sin%—sin2%
B zsin% ©)
- 2—sin%
& V)

e

oobboooooooooooooboooooooobooooooDboooboobooooboooDbOboOobbo0oOoDObDOoDO
gobooooboobobodooooooboobooooooobooOoOoooooOoobooOoOooOoOoobOOoOobOOoOobOoOOODn
goboooobooobooooobooobobooooooobooooboooooboooobobooooooDOoOoDbObooOooDoOooDn
00000000000000000000000000r000 n+100000000000000000O0DO
D0000000000000 7, 000000 {r, 00000000000O000

—3— ©ooooo0000onoodmakoto



